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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-6

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:10 273 150.0 2.583 |&Z=| FiHAe06:10 KREIEF CGREERSE)
06:40 273 150.0 2.583 (Z=| ThHAQD6:40 KENFEF (RAMEEE)
07:10 273 150.0 2.583 |Z=| FHAe07:10 KRHEHIEF (KREMERSE)
07:40 273 150.0 2.583 |Z=| FHAe07:40 KHIEF (KEERSE)
08:30 273 150.0 2.583 (Z=| FhEHA@D8:30 kENFEF (RAfEREIE)
09:15 273 150.0 2.583 |Z=| FnHR@09:15 KHEHIEF (REERSE)
09:50 273 150.0 2.583 |Z=| FHA@09:50 KHFEFE (KREAERSE)
10:25 273 150.0 2.583 (Z=| ThHA@10:25 kENFEF CRAfREER)
10:55 273 150.0 2.583 (& =| ThHA@10:55 KEFEF CRAMEESE)
11:25 273 150.0 2.583 |Z=| FHe11:25 RHEEFE CGREERSE)
11:55 273 150.0 2.583 | =| FHR@11:55 KREEF CGREERSE)
12:25 273 150.0 2.583 (& =| ThHAe12:25 KEIEF CGRAHEESE)
12:55 273 150.0 2.583 |Z=| FHe12:55 KHEEFE (CGREERSE)
13:25 273 150.0 2.583 | =| FHR@13:25 KREIEF CGREEHSE)
13:55 273 150.0 2.583 (& =| ThHA@13:55 KENFEF (CRAMEE:E)
14:25 273 150.0 2.583 |Z=| FHRe14:25 KHEFE CGREERSE)
14:55 273 150.0 2.583 |Z=| FHe14:55 KHEFE CGREAERSE)
15:25 273 150.0 2.583 (& =| ThHA@15:25 KENIEFE (CGRAMEEEE)
16:00 273 150.0 2.583 |Z=| FHAe16:00 KHEHIEF (REERSE)
16:40 273 150.0 2.583 |Z=| FHAe16:40 RHIEFE (KREERSE)
17:30 273 150.0 2.583 (Z=| ThHA@17:30 kENFEF CGRAMEEE)
BEit|5733.0 (21:%) 3150.0 #2i3#%EC: 2080.0, PH: 6.0

unusual large postFgEt from yesterday (482),

[B]/REC 5847.0 K&, EiIWRKECAAIMIAER
#EEIRECE (1803.0 vs 5847.0) 37

set to 450.0 ml.
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:50 283 150. 0 2.583 F|  {Ri1%006:50 Bzh (RF{ESE
07:25 283 150.0 2.583 F BRige07:25 Bz (GREERSE)
08:40 283 150.0 2.583 5| {Rig@08:40 Bz (KRAMERSE)
09:30 283 150. 0 2.583 E BRi%@09:30 BE1 (RAERRE)
10:10 283 150.0 2.583 E| {Ri1g@10:10 B3h (RE{EREE)
10:50 283 150.0 2.583 =l {Ri%@10:50 B3 (RAERSE)
11:25 283 150. 0 2.583 E BRige11:25 Bz CGRAERESE)
12:00 283 150. 0 2.583 E| {Rige12:00 B3h (RE{EREE)
12:30 283 150.0 2.583 = {Rig012:30 B3 (RAERSE)
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14:30 283 150. 0 2.583 E BRige14:30 Bz CGRAERESE)
15:00 283 150.0 2.583 5| {Ri%e15:00 B3 (RAERSE)
15:35 283 150.0 2.583 = RRiBe15:35 B (RFAEESE)
16:15 283 150.0 2.583 = RRiBe16:15 Bz (REAKEE)
17:05 283 150. 0 2.583 El BRi&e17:05 Bz GRAEREE)
21t 4811.0 (170%) 2550. 0 32 3HKEC: 2080.0, PH: 6.0

[E;&EC 5253.0 K&, EiNF{KECAR & M%ER
#H[EKECE (1847.0 vs 5253.0) 15
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:45 283 150. 0 2.583 E 1BRi&e06:45 Bz (RFA{EREIEE
07:20 283 150.0 2.583 F[ BRi%e07:20 Ba (GRAERSE)
07:55 283 150.0 2.583 S| {Rig@07:55 Bz (RAERSE)
08:30 283 150. 0 2.583 E  BRi%e08:30 Ba1 (RAERE)
09:05 283 150.0 2.583 5| 1RiIR@09:05 Bz (KRFEAEES)
10:00 283 150.0 2.583 =l {Ri%@10:00 B3 (RAERSE)
10:50 283 150. 0 2.583 F BRi%e10:50 Bz (GRAERERE)
11:30 283 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:10 283 150.0 2.583 =l {Rige12:10 B3 (RAERSE)
12:45 283 150. 0 2.583 E BRige12:45 Bz CGRAERESE)
13:15 283 150.0 2.583 5| {Ri%e13:15 Bz (RAERSE)
13:45 283 150.0 2.583 = RRiB013:45 B (RFAEESE)
14:20 283 150. 0 2.583 E BRige14:20 Bz CGRAEREE)
15:00 283 150.0 2.583 5| {Ri%e15:00 B3 (RAERSE)
15:40 283 150.0 2.583 =l RRiB015:40 Bz (RFAEESE)
16:30 283 150.0 2.583 = RRiB016:30 Bz (RAKEE)
17:30 283 150. 0 2.583 El BRi&e17:30 Bz GRAEREE)
21t 4811.0 (170%) 2550. 0 32 3HKEC: 2080.0, PH: 6.0

large discrepency for begining water status (480:123.0), set to 480 ml.
F[EIKECE (1887.0 vs 3513.0)53 5




P3-6_0, Day=73 (2025-06-10)
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P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

05:50 278 150.0 2.583 PA| {RRi%@05:50 Bz (GkAMEE:E)
06:40 278 150.0 2.583 FA| 1BRi%@06:40 B3zh (KAB{EREE)
07:30 278 150.0 2.583 (Z=| {Ri%@07:30 Bz (FAERHSE)
09:20 278 150. 0 2.583 | =| {Ri%e09:20 B (KREZHE)
10:30 278 150. 0 2.583 |Z=&| BRi%e10:30 Bzl (GRAEREE)
11:15 278 150. 0 2.583 |Z=| {Ri&e11:15 Bz (GREEZERSE)
12:15 278 150.0 2.583 (Z=| Rige12:15 Bz (GRAERSE)
13:15 278 150.0 2.583 |/hfu| {Ri&e13:15 Bz (GREEZEBE)
13:50 278 150.0 2.583 [/\ifi| {Ri%@13:50 Bz (FRAEHSE)
14:25 278 150.0 2.583 FA| 1Bi&@14:25 B3 (KRAEREE)
15:05 278 150.0 2.583 |Z=| {Ri&e15:05 Bz (REEZEHE)
16:15 278 150.0 2.583 (£=| Rige16:15 Bz (REAEDSE)
17:25 278 150.0 2.583 |Z=| {Ri&e17:25 Bz (REEZBE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (346:156.0), set to 346 ml.
FEIKRECE (1897.0 vs 3593.0)53 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=72 (2025-06-09)

150 Fm———moF——————F——————F——————F——————F——————F-—————Fe—————Fe—— ===
VI, V¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 2000
2600 499
100 + 1969
-2
1700 65825 000
501 L 1000
20 Warning: lcol [FVI',| "FVO’'] missing 60
0 + -0
200 § 4 30
150 - - 28
-
100 - 26 =
50 A - 24
1.0 22
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit:@D75 01:54: ET=2097 Fg=2550.0 Ro=475.0 t
400 - I - 3000
l
: - 2000
200 - 1
I L 1000
1
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
400 . el B | B | B | B | B|B|®W 55 55 55 & | M BA [§5] 55 5 i : 5 5 5 | ™ 5 3000
ByEt @72 19:09: ET=2154 Fg=1650. 0 Ro=nan :
1 - 2000
200 ~
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
400 EXNEXSEZS R [H BH ERERR E A EA EEA EEA E AN AN R E A A A E A E A A AR 5 3000
. 1
ByWon:@D75 01:54: ET=1525 Fg=1950.0 Ro=398.0
! 8&—8—9 2000
200 - 1
I L 1000
1
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
NREZAEZAEZI N [H BH ERERR E A EA EEA EEA E AN AN R E A A A E A E A A AR 5
0.6 -
0.4 1
0.2 A
0.0
1500 —_ A
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

27. 25 A

—o— ME —o— ume | 2767 —o— ME
25.51 27.00 4
27.5 -
26. 75
25.0 -
26. 50 - 274 7
24.5 1 26. 25 97 3
° 26. 00
24 ME | 2404 27.2 -
T T T T T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FV0=0
27.75 4
—— ME —e— ME —o— ME 27.5 1 00009
.50 - 27 6 -
27.50 '
.25 -
27. 25 27.4 - 27.0 -
.00 -
27.00 27. 2 A 26.5 -
.75 -
26. 75
6.75 27.0 -
.50 - 26.0 -
26. 50 - ME
26.8 -
. 25 - T T T T T T T T T T T T T T
585 590 595 655 660 665 695 700 705 762.5 765.0 767.5 770.0 772.5
m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FVO=0
.25 - 27.4 - 27 5
27.4 -
.00 - 27.2 -
75 270 27.2 - 27.0 -
.50 + 26. 8 27.0 -
26.5 -
. 25 26. 6 26. 8
835 840 845 875 880 885 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
—— MW 857 o 49. 4 o W
46.5
48.0 49,2
46.0
47.5 1 49.0 -
45.5
47.0 i
45.0 48.8
o
400 600 800 1000 375 380 385 420 425 430 470 475 480



49,

49.

49.

48.

48.

48.

49.

49.

49,

49.

48.

48.

48.

m=585, FV0=0

50 A

25 A

00 -

75 -

50 A

25 A

—0—

MW

T
585

5é0 5é5
m=835,n FV0=0

75 1

50 -

25 A

00 ~

75 -

50 A

25 -

——

M_W

T
835

T
840 845

49.

49.

49.

48.

48.

48.

50.

49.

49.

49.

49.

48.

m=635, FV0=0

50

25 A

00 -

75 1

50

25 A

—0—

MW

T
655

660 6é5
m=875,n FV0=0

00 -

75 1

50

25 A

00 -

75 -

—o—

M_W

T
875

T
880 885

m=695, FV0=0

49. 8

49.6

49. 4 1

49. 2 -

49.0 -

48. 8

—o—

MW

695

760 765
m=920,n FV0=0

50. 4

50. 2

50. 0 -

49. 8

49.6 -

49.4 -

49. 2 -

—o—

M_W

920

T
925 930

m=760, FV0=0

50

49 -

48 -

47 -

46

50. 0

49.5 A

49.0 -

48.5 -

48.0 A

47.5 A

—— MW

Oy 0—C0—0—0

T T T T T
762.5 765.0 767.5 770.0 772.5

m=1000m FVO=0

-o— MW

T
1000

T T
1005 1010




hour

:00 -

:10 -

140

140

105

115

115

115

115

115

120

.

%

5 5
%

7
=
e

N

N
“%
%

2

o
-

§_

4
2

100

80

- 60

- 40



P3-6

BfiE) | EBAK G | ERE (EAR/H) | ERERE (B/R) | XK R

06:40 278 150.0 2.583 = {Ri%@06:40 B (RAERSE)
07:10 278 150. 0 2.583 E BRi&e07:10 Bzl (GRAEREE)
07:40 278 150. 0 2.583 E|  {Rige07:40 B3h (RE{EREE)
08:10 278 150.0 2.583 = {RRiB008:10 Bz (RFAEEE)
08:50 278 150. 0 2.583 E  1BRi&e08:50 Bzl (RAERE)
09:30 278 150.0 2.583 5| {Ri%@09:30 B3 (FAMERSE)
10:05 278 150.0 2.583 =l RRi8@10:05 Bz (RFAEESE)
10:40 278 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:15 278 150. 0 2.583 =l Rige11:15 Bz (GRAEESE)
11:45 278 150.0 2.583 = {Rige11:45 B3 (RAERSE)
12:15 278 150.0 2.583 Sl {Rige12:15 Bz (REAERSE)
12:45 278 150. 0 2.583 E| {Rig012:45 Bzh (GRE{ERSE)
13:15 278 150.0 2.583 F BRige13:15 Bz CGRAERESE)
13:45 278 150.0 2.583 S| {Rig013:45 B (RAERSE)
14:15 278 150. 0 2.583 E BRige14:15 Bz CGRAERESE)
14:45 278 150.0 2.583 F BRige14:45 Bz CGRAERESE)
15:15 278 150.0 2.583 =l {Rige15:15 B3 (GRAERSE)
15:45 278 150. 0 2.583 E BRige15:45 Bz (GRAERESE)
16:20 278 150.0 2.583 S| {Ri%016:20 B3 (GRAMERSE)
17:00 278 150.0 2.583 =l RRiB0@17:00 Bz (RFAEEE)
21t 5560.0 (20%) 3000. 0 3EHKEC: 2080.0, PH: 5.9

large discrepency for begining water status (431:141.0), set to 431 ml.
[E]/&EC 5260.0 K&, EiUAKECHAIMIAER
BEEIRECE (1927.0 vs 5260.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=71 (2025-06-08)

T e g g S g B S g g
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Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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